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Chapter 10 Test

CALCULATOR ALLOWED Score

Round to 3 decimal places. Show all work.

1. The equation of the line normal to y=3xvx*>+6 -3 at (0, =3) is

- ~\/ v
& x_gfgyzgﬁa Z;c‘ljz‘%x (3 (s=¢) 22+ L6
X+ y=- [
c) 3V6x+y=-3
d 36x—y=-3 n= G ~(@)3
(e) x+36y=-3 " =

2. IfSx—dxy—2y =1, then L=

dx
15x* -4 15x* -4y 15x* -4
@ 37 ® =57 ) gy rdx
15x% 4 15x% — 4y
(d) 4x+2 4x+4y
3. Let f(x)= %— on x € (0, e). The maximum value attained by f1is

@ 1 (b e (c)% d e-1 @) undefined




. £ glx) _ v = )
4 If e 2x+l,theng(X) 6(\‘) = ﬂ\ (’2»‘4,\\

1

2) 2x+1 CB( C\cS g ——-L (2/)

. 2 D\
@ 2x+1

c)  2(2x+1)
d) 82x+]

e) ln(2x + 1)

O For any time ¢ >0, if the position of a particle in the xy-plane is given by
x=¢'and y=e¢", then the speed of the particle at time =1 is
( -t
a)  2.693 X e 4'= e
2.743
3.086 :
d  3.844 S-[ e+ (~e)- =

e)  7.542
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6. What is lim——?—? = Lun

x50 ln(l—x) < 20 '(_yl—x) -

a) -1 b) -3 c) | 3 e) The limit does not exist




7. Given the functions f(x) and g(x) that are both continuous and

differentiable, and that have values given on the table below, find h'(Z) , given that

Hx)=() 1 (3)

x 7 (%) (%) g(x) g'(x)
2 4 2 8 1
4 10 8 4 3
8 6 -12 2 4

@ -12 b) -1 c) 0 d) 64 e) 30

b L) = 404D+ §ay 5 )

2 ¥ (-2 (Y =
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CALCULATOR ALLOWED Score
Round to 3 decimal places. Show all work.

1. Find domain and zeros of y-Q( 2x ) 3—x2.

(0 (£5.2
3-xE ~ O A G ==

‘ D s>wrapu - - % °
Y e~ [ Elfi} x -g o

2. Find the extreme points of y=(-2x*)y3—x>. Show the algebraic work to
support the critical values.
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3.  Find domain and zeros of y=(x’ —7)e_% .

X= éﬁ ©)

Demad A Raacs

4. Find the extreme points of y=(x"- 7)e—y2 . Show the algebraic work to

support the critical values.
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5. Find domain, VAs, and zeros of y=In(x*-7x+6).

Vh< ¢ '&:‘3‘ (2

Zanos (2949 0) (.733.0) (2. 1L6, 5)
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6. Find the extreme points of y= ln(x3 —Tx+ 6) on xe (—3, 3) . Show the

algebraic work to support the critical values.
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7. y=(4x- 3)9 (3x7 + 1)3 . Find % in factored form.
(Y~ -’—)fi [’3 (32 -u\)1 2 Ix"} +(3 \3-“\2 E\ (L ~’s)% @eﬂ
9 (’—(\cﬁ)? (3\}-“\1 [ IF (4 3) + Yy (3\C'1.“§}

1 (x ) 8< 56*'”\1 @ O?C? - 2hF+ “€>

DO TWO OF THE FOLLOWING THREE SKETCHING PROBLEMS

8.  Find the traits and sketch y= (—2x3) 3—x2.

Y-intercept:(O“ﬁ Range: [‘:S R [ %“(Q

End Behavior (Left): o owue End Behavior (Right): e




9.  Find the traits and sketch of y=(x-7 )e—% .
& (D.]%Zt Mg
Y—intercept:(é . "I}\ Range: Eﬁé% ¢ |

End Behavior (Left): ¢ End Behavior (Right): l:xf:,o

L




10.  Find the traits and sketch of y= ln(x3 - 7x+6) on x€(-3,3).

Y-intercept: (D? A Q) Range( ot S
(
End Behavior (Left): pow & End Behavior (Right): @ay 4
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